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4. Y23 (x+2) E AR 242 g A2?
® 3x%+5x-2 @ 6x2+9x-6 @6x2+x—12
@ 2x2-x-10 ® 2x2 +3x-2
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D 3x%+5x-2=Bx-1)(x+2)
@ 6x>+9x-6=3(2x-1)(x+2)
®6x% +x-12=(2x+3)(3x—4)
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5% dFE 20 + 1 0T

2x2 +ax—2=(2x+1)(x-2) =2x2 - 3x -2
L a=-3
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® 1 @ 2 ® 3 @1 @)

T2 A5 x+ A 2 5,
(x+1)(x+A) =x*>+A+1)x+A
=x>+ax+4




7. (x=2y)(x-2y-3) - 10= IESsHA
(x=2y+m)(x=2y+n) 4, mn 2] 2F-2?

@-10 @3 ®10 @2
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t(t-3)-10=1>-3t-10
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=(x—2y-5)(x-2y+2)
m=-=-5n=2
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y+4 =12 34A

X(y+4)2+2x(y+4)-8

= X212 +2xt -8

= (xt+4) (xt - 2)

={x(y+4)+4} {x(r+4) -2}

= (xy+4x+4) (xy + 4x - 2)

et A=B=C=4,D=-2°22 A+B+C+D=10
oJtt,
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(x+1)(x+2)(x+3)(x +4) -8 & AESH5HH?

@ (x? —5x+8)(x? 4+ 5x—2)
@ (x* +5x-8)(x* -5x +2)
® (2% 4 5x+4)(x* + 5x + 2)
@(x2+5x+8)(x +5x+2)
)(x?

® (x® +5x+8)(x® +5x-1)

B

(x+D(x+4)(x+2)(x+3) -8
= (x® 4+ 5x 4 4)(x% + 5x + 6) — 8 oA
x? +5x = A 2} 54,
A2 +10A +16 = (A +8)(A +2)
= (x2 4+ 5x + 8)(x* + 5x + 2)




13. X+ xy+x+ys A-Es)oH?

@ (x+y)(1-x) @ (x+y)(x-1) @ (x-y)(x+1)
@@+yE+1) O (x-y)x-1)

‘ x(x+y)+ (x+y) = (x+y)(x+1)
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x2—4y2+6x+9:x2+6x+9_4y2
= (x+3)2 -4
=(x+3+2y)(x+3-2y)
L x+3+2y+x+3-2y=2x+6




15. -2y +xy—2x—y+ 12 AFESfSHH?

D (x+2y-3)(x—y—1) @ +2v-1)(x-y-1)
® (x+2y-1)(x-y-2) @ (x-2y+1)(x+y+1)

® (x+2y+1)(x-y+1)

B

2 (y-2x-22—y+1
=2+ (-2)x- (2 +y-1)
=x’+(-2)x-(2y-1)(y+1)
={x+@-D}Hx-0+1)}
=(x+2y-1)(x-y-1)




16. a=2vV2-4, b =3+ V2% ), a? - dab + 4b° 9] F-& 5o,

> E.
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a® — 4ab + 4b* = (a - 2b)?

— {2v2-4-23+ VD))’
=(2V2-4-6-2v2)2
(-10)2 = 100




17. Ax?+36x+ B = (2x+C)? oAl 45 4, B, € o] F& 7347

® 4 @ 9 ® 81 @ 90 @94

Ax2+36x+B = 4x2+2x2Cx+C2 0]|B2 A =4, B=81,C=9
Sj=3
Wt A+ B+ C =4+81+9=094 o[t}




18. (a-b+3)*=(a+b+3)* S 7rks] 3 AL?

@ -4b(a-3)

@ —4a(b+3) ® -8b(a+3)
@ —4a(b-3) @—4b (a+3)

~&B

(a-b+3)?-(a+b+3)>
={(a-b+3)+(a+b+3)}
{(a-b+3)-(a+b+3)}
= (=2b) (2a + 6)

= —4b(a+ 3)
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Aoyt =2+ P+ - W

D 13 @15 ® 18 @ 20 ® 24

xt = 8Lyt = (x* +9?)(x* - 9%)
= (2% + 9y*)(x + 3y) (x - 3y)
~9+3+3=15
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® 2 @ 4 @5 @ ® 10

~&B

316 -1=(38-1)(3°+1)
=(3*-1)(3*+1)(38+1)
=(32-1)F2+DB*+1)(3%+1)
=B-1D)B+1E+1)B*+1)(3%+1)
=2x4x10X 82X 6562




